Name:

Stones to Ounces

Class:

Fill in the correct numbers (st = stone, Ib = pound, 0z = ounces)
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Answers

Fill in the correct numbers (st = stone, Ib = pound, 0z = ounces)

8 stones = | 1,792 | ounces 448 ounces = 2 stones
5stones = | 1,120 | ounces 1,568 ounces = 7 stones
11 stones = | 2,464 | ounces 2,688 ounces = | 12 stones
22 stones = | 4,928 | ounces 4,480 ounces = | 20 stones
33 stones = | 7,392 | ounces 7,840 ounces = | 35 stones
2stS5lb = | 528 0z 1,0560z = | 4 st | 10 |1b
3st2lb = | 704 0z 16800z = | 7 |st | 7 |1b
4st3lb = | 944 | oz 4800z = | 2 |st | 2 |Ib
12st31lb = 2,736 | oz 1,4240z = | 6 | st | 5 |1b
14st51b = | 3,216 | oz 25280z = |11 | st | 4 |1b
20st81b = [ 4,608 | oz 2,736 0z = | 12| st | 3 |1Ib
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